\N-ws WORLD CONFERENCE ON
?; TIMBER ENGINEERING 2025

imber for the Future Built Envir

ENVIRONMENTAL BENEFITS OF POST-USE MATERIALS RECOVERY:
A CIRCULAR ECONOMY CASE STUDY OF A CROSS-LAMINATED
TIMBER MULTI-STOREY BUILDING IN A LIFE CYCLE PERSPECTIVE

Ambrose Dodoo!, Ahmad Al-Najjar?, Jonn Are Myhren?

ABSTRACT: Careful selection of construction materials and the efficient management of post-use materials are vital for
resource-efficient buildings with lower environmental impacts. This study explores the implications of circular economy
practices, entailing efficient post-use materials recovery for reduced environmental impacts of cross-laminated timber
(CLT) multi-storey construction. The global warming potential (GWP), acidification potential (AP) and eutrophication
potential (EP) of a CLT building are explored in a life cycle perspective, including include all building materials-related
activities in the product, construction, end-of-life stages, with a focus on circularity strategies — cascading, reuse, and
recycling of post-use building materials. The results show that the building’s end-of-life stage represent a significant share
of the total life cycle GWP impacts. However, the stage represents a relatively smaller share of the AP and EP impacts.
The implementation of circularity significantly reduces the life cycle climate impacts of the building. The end-of-life
stage, which represents about 20% of the total material-related GWP impact, can be effectively mitigated through these
circularity strategies. Cascading proves to be a better option compared to reuse and recycling, offering a GWP benefit of
70 kgCO2eq/m?. Comparatively, the GWP benefit from cascading is 64% and 72% higher than that of the reuse and recycling
options, respectively. This study highlights the importance of life cycle perspective and circularity strategies at the end-
of-life stage of CLT buildings to reduce environmental impacts.

KEYWORDS: Cross-laminated timber reuse, circular economy, post-use materials, construction waste, life cycle
environmental benefits.

1 —INTRODUCTION environmental impacts. This transition is particularly
relevant for construction materials, whose production
In the European Union (EU), about half of all the accounts for 11% of global CO, emissions [7]. The EU
extracted raw materials and energy consumption, and [8] and Swedish government [9] identified the building
36% of the total waste stream are linked to the and construction sector as a priority area for circularity
construction sector [1, 2]. In Sweden, construction works and the transition to a circular economy. The EU circular
generate about 10 million tons of waste every year, [3]. economy action plan aims to promote circularity along
Currently, a significant share of the construction waste in the entire life cycle of products, including buildings [10].
the EU, including in Sweden, ends up in landfills and
low-value applications as backfills [1, 3, 4]. 1.1 SIGNIFICANCE OF MATERIAL-
RELATED IMPACTS
According to the International Resource Panel [5] and
Ellen MacArthur Foundation [6], achieving the 1.5°C Recent studies show that energy and environmental
target set by the Paris Agreement requires integrating impacts associated with the materials comprising a
circular economy strategies with ongoing initiatives in building can be a significant part of the total life cycle
energy cfficiency and decarbonisation of the built impacts. For example, Malmqvist et al. [11] found that
environment. Circular economy principles focus on the production stage of a Swedish building accounts for
maintaining materials in use for as long as possible about 56% of the life cycle global warming potential
through reuse, recycling, and cascading, thereby (GWP) impact, compared to the operational energy use
reducing reliance on virgin resources and minimizing which accounts for 39% of the GWP impact. Petrovic et

1 Ambrose Dodoo, Department of Building Technology, Linnaeus University, Sweden, ambrose.dodoo@lnu.se

2 Ahmad Al-Najjar, Department of Sustainable Development, KTH Royal Institute of Technology, Sweden, ahmadan@kth.se
3 Jonn Are Myhren, Sustainable Energy Research Centre, Dalarna University, 79188 Falun, Sweden, jam@du.se

https://doi.org/10.52202/080513-0279 2288



al. [12] also found material-related impacts from building
production and maintenance stages to account for 67% of
the life cycle GWP of a Swedish building.

Initiatives to reduce environmental impact assessment of
building materials have been recently introduced in EU,
including Sweden [13, 14]. The EU Directive on energy
performance of buildings (recast) emphasised measures
to reduce the whole life-cycle greenhouse gas (GHG)
emissions of buildings including material production,
construction, operation, renovation and end of life stages,
[14, 15]. In Sweden, the climate declaration of buildings
regulation [16] requires assessment of the carbon
footprint of new buildings. Similarly, France’s building
environmental regulation includes requirements for
embodied carbon emissions of buildings [17].

In efforts to promote low-carbon building materials,
cross-laminated timber (CLT) is gaining increasing
interest for use in mid-rise, multi-storey building
construction [18]. While the literature [19] on life cycle
assessment (LCA) of buildings underscores the climate
benefits of CLT buildings in lieu to other building
structural material, most of the documented studies
concern the production stage [20]. Moreover, Andersen
et al. [21] observed that much of the literature on the
environmental impact of CLT in construction has
concentrated on the climate change impact, while
overlooking other environmental impact categories. This
could result in unintended burden shifting if the other
environmental impacts of CLT buildings are not explored
and addressed in efforts to mitigate the environmental
impacts of these buildings [21, 22].

A comprehensive approach to sustainable construction
must consider the entire material cycle, from raw material
extraction to end-of-life management [23]. Buildings
have finite lifespans, and materials from end-of-life
structures can either become waste requiring disposal or
valuable resources for reuse. Effective end-of-life
material management is essential for minimising life
environmental impacts of buildings. For example, Al-
Najjar and Malmqvist [24] showed that reusing 94% of
concrete elements can reduce embodied carbon by 82%
[33], significantly cutting resource use and promoting
circular material flows in buildings. Thormark [25]
demonstrated that a residential building incorporating a
high proportion of recycled and reused materials had
significantly lower life cycle energy use compared to one
constructed with virgin materials. Almusaed et al. [26]
explored the potential benefits of using recycled
materials in the construction sector, and noted that
recycled materials can lead to 40% reduction GHG
emissions and 30% decrease in energy consumption
compared to virgin alternatives.

2289

1.2 AIM AND SCOPE

This study explores the environmental impacts of
building with CLT volumetric units in a life cycle
perspective, focusing on the implications of circular
economy practices for post-use materials of the building
at the end-of-life stage. The circular economy practices
studied are reuse, recycling, downcycling, and cascading,
entailing the sequential use of post-use material for
different purposes and over time. The study primarily
focuses on Global Warming Potential (GWP) but also
includes Acidification Potential (AP) and Eutrophication
Potential (EP), as these are core environmental indicators
according to EN 15804:2012+A2:2019/AC:2021, which
guides buildings” LCA. AP reflects contributions to acid
rain, which can impact ecosystems; the concrete and steel
industries are major contributors. EP relates to nutrient
enrichment, which can potentially cause algal blooms.
Malin et al. [27] found that GWP accounts for 80-95%
of buildings’ environmental costs, with AP contributing
up to 18% and EP less than 2%.

2 -METHODOLOGY

A CLT building is used as a case study to examine the
implications of different post-use building material
management practices towards circular economy from a
life cycle perspective.

2.1 CASE STUDY BUILDING

The building (Figure 1) is a three-storey residential
structure completed in 2022 in Stockholm County,
Sweden. It consists of 41 volumetric CLT units, with a
total gross floor area of 1,440 m? accommodating 20
flats ranging from one to four rooms. The fagade system
consists of fibre cement and timber panels. The external
wall assembly includes CLT, an internal gypsum board
layer, insulation, and exterior cladding. The roof
comprises tar paper over tongued-and-grooved timber
boards. The foundation consists of prefabricated concrete
elements with expanded and extruded polystyrene for
thermal protection, placed on crushed stone layers.

Figure 1. Illustration of the studied CLT building in Sweden.

https://doi.org/10.52202/080513-0279



Total mass of materials comprising the finished building
is 1308 tonnes, corresponding to 908.3 kg/m’ The
relative distribution of the mass of the materials is
presented in Figure 2. Crushed stone in the foundation
constitutes the largest share of the building material mass.
This is followed by CLT, which serves as the primary
structural material for exterior and interior walls and
intermediate floors. Insulation materials account for
approximately 16% of the total mass, providing both
thermal protection and acoustic benefits. In addition to
CLT, other wood products used in construction,
including lath, plywood, paraquet represent about 2% of
the total mass. Other non-wood materials, such as tar
paper, sealant, paint, filler, mortar, reinforcement, glue,
polyethylene, fibre cement, ceramic, and asphalt,
collectively contribute to 2% of the total material mass.

16% 9%
5% !
1%
5% 1%
1%
2%
38%
Crushed stone mCLT
Insulation Concrete
Gypsum W Particle board
m Other timber products m Steel
Subfloor system Ceramic
Windows Doors

Other non-timber materials

Figure 2. Relative share material mass in the studied building. The total
mass of the finished building is 1308 tonnes.

2.2 LIFE CYCLE ANALYSIS

A life cycle analysis (LCA) approach following the
normative standard EN 15978 [28] is used to analyse the
GWP, EP and AP of materials-related activities and
processes associated with the building.

A schematic representation of the system boundary of the
analysis, following EN 15978 [28] and EN 15804 [29], is
presented in Figure 3. This is defined to include all
activities connected to the product (A1-A3), construction
(A4-AS), end-of-life (C1-C4) stages and the potential
benefits and burdens from post-use building material
recovery and management (D). The use stage and

https://doi.org/10.52202/080513-0279

2290

associated life cycle modules (B1-B7) are outside the
scope of this study.

Al Raw material supply X
Is)ﬁggg cr A2 Transport X

A3 Manufacturing X
CONSTRUCTION A4 Transport X
STAGE A5 Construction installation X

B1 Use

B2 Maintenance

B3 Repair
ISJ?/EGE B4 Replacement

B5 Refurbishment

B6 Operational energy use

B7 Operational water use

C1 Deconstruction/ Demolition X
END OF LIFE C2 Transport X
STAGE (3 Waste processing X

C4 Disposal X
POTENTIAL Reuse, recovery, recycling potential benefits

BENEFITS & LOADS D beyond system boundary X

Figure 3. System boundary of activities of the analysis, with considered
life cycle modules marked X.

Product and construction stages

The environmental impacts during the product stage (A1-
A3) are analysed based on the mass of materials in the
building, considering emissions from extraction,
transport, and manufacturing. Data mainly comes from
product-specific environmental product declarations
(EPDs) compliant with EN 15804 [29], supplemented by
primary data from the company that constructed the
studied building, and generic data. The details of the
EPDs used are listed in [30]. Emissions from fasteners
are calculated using data from IVL [31]. During the
construction stage (A4-AS), emissions from transport
and installation processes are calculated using EPDs and
generic data. Transport emissions are based on diesel
consumption rates of 0.07, 0.04, and 0.03 liters per tonne-
km for local, long, and highway distances, respectively
[30]. Primary data from the company which built the
studied building is used to assess impacts from electricity
(24,067 kWh), district heat (40,426 kWh), and fuel
consumption during assembly. Wastage of material is
accounted in the calculations.

End-of-life stage

Plausible scenarios are explored where the building is
deconstructed by selective dismantling after a 50-year
reference service life, followed by management of the
end-of-life building materials. The end-of-life activities
analysed comprise deconstruction/ demolition (C1),



transport (C2), processing (C3), and disposal (C4). The
potential environmental benefits and burdens linked with
different circular economy practices (Table 1) for post-
use CLT, and other wooden materials, concrete and steel
are analysed. The post-use options include recycling,
reusing and cascading. Cascading the
sequential and consecutive use of resources. The concept

involves

is proposed as an effective strategy to guide material
usage for creating added value within the circular
economy [32]. According to Sirkin and ten Houten [33],
cascading is an efficient strategy for using recovered
wood. In this approach, the recovered wood is first
repurposed for high-quality applications, such as reuse
as lumber, then recycled or downcycled into other
products, followed by additional suitable uses. Finally,
the wood may be used for energy recovery through
combustion.

Table 1. Options and processes considered in end-of-life stage analysis
and avoided by implementation of circular economy practices.
Material End-of-life
option

Application and processes
displaced

CLT Cruhed and chipped for
particleboard, replacing virgin
wood, forest operations, and

landfilling.

Recycling

Reuse Used as structural panels in new
construction application,
displacing new wood processing,
forest operations, and landfill

waste.

Reused in new construction
application, then recycled into
particleboard and recovered for
energy. This displaces processes
associated with reuse and recycling
(above) and also displaces fuels for
electricity via European average
mix.

Cascading

Concrete Recycled as concrete aggregate,
avoiding landfilling, and extraction of

virgin aggregate.

Recycling

Steel (fasteners &
reinforcement)

Used as steel scrap, avoiding ore
mining, smelting, and landfill
waste.

Recycling

Other wood
(timber products
[e.g. lath],
plywood, parquet,)

Cruhed and chipped for
particleboard, replacing virgin
wood, forest operations, and
landfilling.

Recycling

Based on the options in Table 1, three end-of-life
scenarios towards circular economy are analysed in this
study:

e Scenario 1: Recycling of CLT and other materials

e Scenario 2: Reusing CLT and recycling other materials

e Scenario 3: Cascading of CLT and recycling other
materials.

2291

In this analysis, 90% of each of the materials are
assumed to be recovered at the building’s end-of-life,
following [34]. In scenario 1, all the recovered materials
are recycled, following the options in Table 1. In
scenario 2, 70% of CLT panels are assumed to be reused
in new applications following Passarelli [35], with 20%
of the CLT recycled along with all the other materials. In
a documentation of experience in reusing CLT panels,
Passarelli [35] indicated that the usable areas of the
recovered panels decreased due to the previously used
connections, and that about 30% of the recovered panels
were lost during their reprocessing for the reuse. In
scenario 3, 70% of the CLT panels are assumed to be
cascaded with remaining 20% of the recovered CLT
recycled along with all the other materials. The impacts,
burdens and benefits of the end-of-life and post-use
options are calculated using mostly the data in the
specific EPDs, supplemented by generic data [31, 36].
The details of the EPDs are found in refs. [30] and [37].
The impacts due to the transport of the materials are
calculated considering the distances to the waste
processing and disposal sites and assuming an average
diesel consumption of 0.071 1/km-tonne [31].

3 - RESULTS

Table 2 presents the total environmental impacts for the
product and construction stages of the building. The
product stage accounts for the highest contribution across
all environmental impact categories. Compared to the
transport and construction stages, the product stage
accounts for approximately 65% of GWP, nearly 80% of
EP, and over 95% of AP. Though the transport and
construction stages contribute less, they still represent a
notable share of the GWP.

Table 2. Total environmental impacts of the product and construction
stages (A1-A5) of the building.

Life cycle stage GWP EP AP
(kgCOneq) (kgPOs ) (kgSOneq)

Product (A1-A3) 2.2E+05 1.9E+02 1.1E+03

Transport & construction

(A4-A5) 1.2E+05 5.0E+01  2.7E+01

Total 3.4E+05 2.4E+02 1.2E+03

Figure 4 shows the breakdown of the environmental
impacts for the product stage. Steel is the most dominant
material, followed by insulation and CLT, indicating
their significant contribution to GWP. While this steel
constitutes only 2% of the building mass (Figure 2), it
represents about a quarter of the product stage GWP. For
EP impact, CLT followed by insulation and doors are the
biggest contributors, while for the AP impact, the biggest

https://doi.org/10.52202/080513-0279



contributors are doors, CLT and insulation. Overall,
CLT, steel and insulation are the materials with notable
contributions across all three impact categories. CLT
contributes 10% to GWP, 19% to EP, and 15% to AP. In
comparison, steel accounts for 23% of GWP, 3% of EP,
and 5% of AP, while insulation contributes 16% to GWP,
11% to EP, and 12% to AP.

100%
90%
80%
70%
60%
50%

40%

30%

20%

10%

Relative contributions of materials to environmental impacts

0%

GWP EP AP
ECLT O Sawn timber O Particle board O Steel
® Concrete @ Rebars O Insulation B Parquet
B Gypsum B Subfloor system B Windows ® Doors
O Paint m Sealant/ fillers @ Glue | Filler
B Mortar mFibre cement O Tar paper OCrushed stone
DPolyethylene ~ B Ceramic @ Plywood

Figure 4. Relative shares of various materials and components to GWP,
EP and AP impacts during the product stage (A1-A3).

Table 3 shows the building’s environmental impacts at
the end-of-life stage and also the post-use building
material benefits. Processing of the post-use materials
dominate the end-of-life GWP and EP impacts of the
building while disposal dominates the AP impact. Table
4 presents the potential benefits from different post-use
material management options for post-use CLT panels,
and for recycling of other post-use wooden buildings
materials, concrete and steel. Among the options for the
CLT panels, cascading, entailing reuse of the panels,
followed by recycling into chips for particleboard and
lastly energy recovery of the end-of-life boards gives the
biggest post-use benefits. Besides the options for the
CLT panels, recycling of steel also provides notable
potential post-use benefits. Overall, cascading of CLT

https://doi.org/10.52202/080513-0279

2292

combined with recycling of other materials (scenario 3)
provides the most potential environmental benefits
among post-use material options. This followed by the
scenario involving reusing CLT combined with recycling
of other materials (scenario 2). Cascading (scenario 3)
give a GWP benefit of 70 kgCOzeq/m?. Comparatively,
this benefit is 64% and 72% higher than that of the reuse
(scenario 2) and recycling (scenario 1) options,
respectively.

Table 3. Environmental impacts at end-of-life stage (C1-C4)
and benefits of circular economy practices for post-use
materials.

End-of-life activity (k(g;(‘fv(i o FP (kgPO %) (kg‘;gzeq)
Deconstruction (C1) 5.0E+03 8.6E-01 6.6E-01

Transport (C2) 1.0E+04 5.8E-01 3.2E+00
Processing (C3) 6.1E+04 2.2E+00 5.5E+00
Disposal (C4) 1.3E+03 1.2E+00 7.2E+00
Total impacts (C1-4) 7.8E+04 4.9E+00 1.6E+01

Table 4. Potential environmental benefits (negative numbers)
of circular economy practices for post-use materials (D).

Post-use material GWP EP AP
options (kgCO1eq) (kgPO4ey) (kgS0:eq)
CLT panels:

Recycling of CLT -5649.63 -1.26E+01 -6.82E+01
Reusing of CLT -1.35E+04 -2.28E+01 -1.10E+02
Cascading of CLT -77249.47  -6.32E+01 -3.98E+02
Other materials:

Recycling of wood * -2.62E+03 -4.40E+00 -2.62E+01
Recycling of concrete  -1.81E+02 -5.88E-01 -5.38E-01
Recycling of steel -1.98E+04 -2.55E+01 -8.17E+01
Sub-total for other ) )(p 04 3.0SE+01  -LO9E+02
materials recycling:

Scenario 1:

Recycling of CLT +

Sub-total for other -2.83E+04 -4.31E+01 -1.77E+02
materials recycling:

Scenario 2:

Reusing of CLT +

Sub-total for other -3.61E+04 -5.33E+01 -2.19E+02
materials recycling:

Scenario 3:

Cascading of CLT +

Sub-total for other -9.99E+04 -9.37E+01 -5.06E+02

materials recycling:

* This encompasses other wooden materials of the building other than
CLT. This includes lath, plywood, and paraquet (see Figure 2).

Figure 5 compares the end-of-life stage impacts to those
of the product and construction stages, while Figure 6
compares these stages to the post-use stage when
combining cascading of CLT and recycling of other
material (scenario 3). The end-of-life stage represents
about 20% of the total material-related GWP impact.
However, this stage constitutes a minor part of the total



environmental impacts for acidification potential and
eutrophication potential. The benefits from implementing
the circular economy strategies (scenario 3) for post-use
building materials more than offset the impacts from end-
of-life activities across all impact categories. The benefits
of efficiently managing post-use materials are just as
significant as the impacts of transport and construction.

BAI-A3 @ A4-AS @Cl1-C4

100%

80%

60%

40%

20%

Relative distribution of environmental impacts

0%

GWP EP AP

Figure 5. Relative distribution of environmental impacts across life
cycle stages, including product, construction and end-of-life stages.

BAL-A3
BA4-A5
mCl-C4
OCascading of CLT + Recycling (concrte, steel & other wood)

100%

80%
60%
40%
20%

0%

L]

GWP

Relative distribution of environmental impacts

-20%

-40%

EP AP

Figure 6. Contributions of life cycle stages to environmental impacts,
and the benefits of circular economy practices for post-use building
materials, encompassing Cascading of CLT and recycling of concrete,
steel and other wood-based building materials.

4 — DISCUSSION AND CONCLUSIONS

In this study, the GWP, EP, and AP impacts of a CLT
building are analysed from a life cycle perspective,

2293

focusing on the implications of circular economy
practices for post-use materials at the end-of-life stage.
These practices include reuse, recycling, and cascading.
The analysis follows the life cycle of the building from
the acquisition of natural resources through to the end-of-
life of the materials.

Steel, insulation, and CLT made significant contributions
to all three environmental impact categories. Despite
constituting only 2% of the building mass, steel
represents about a quarter of the product stage GWP. This
highlights the need for strategies to minimise the impacts
of these materials, including prioritising circularity
strategies for CLT buildings after their service life ends.
Concrete accounts for a notable part of the building’s
mass, but its estimated environmental impacts are
particularly low. This is because high performance
concrete with very low climate impact is assumed in this
study. Thus, the GWP impact of concrete would have
increased, e.g. by about factor 6 if conventional concrete
based on normal Portland cement had been used instead,
according to data from the Swedish climate declaration
database [38].

The GWP impact of building’s material production (A1-
A3) is 2.2E+05 kgCOseq/m?, which translates to about
150 kgCOzeq/m?. With the recycling options (scenario 1)
involving concrete, steel, CLT, and other wooden
materials, a GWP benefit of 20 kgCO,.,/m? is realised. The
corresponding GWP benefits for reuse and cascading are
25 and 70 kgCO,.,/m?, respectively. These represent 13%
to 47% of the material production GWP impacts. The
potential GWP benefit of cascading is therefore 3.5 and
2.8 times greater than that of recycling and reuse,
respectively. In contrast to reuse and recycling, in the
cascading scenario (scenario 3), CLT panels are used
sequentially in different applications following the initial
service life (see Table 1). The circular economy scenarios
options also provide significant benefits for the AP and
EP impact categories. For example, the benefits from the
options (scenarios 1 to 3) represent 16% to 46% of the
AP impacts, and 23% to 49% of EP impacts, both for
material production stage.

While the product stage represents the dominant share of
the life cycle impacts, the end-of-life stage makes a
notable contribution to the building’s overall
environmental effects, representing about 20% of the
total material-related GWP impact. This analysis shows
that the benefits of circular economy strategies more than
offset the impacts from end-of-life activities across all
impact categories. This underscores the importance of a
life cycle perspective reducing a building’s
environmental impact, particularly its GWP impact.

in

https://doi.org/10.52202/080513-0279



Despite the advantages of effective end-of-life
management, several challenges hinder the reuse,
recycling, and downcycling of materials after their initial
use. A major barrier is that buildings are typically not
designed and constructed to facilitate efficient material
recovery at the end of their service life [39]. Moreover,
building materials themselves are often not manufactured
or installed in a manner that allows for easy reuse, energy
recovery, downcycling, or recycling [40]. To facilitate
efficient material recovery and support a circular
economy, buildings need to be designed, constructed, and
managed using strategies that minimise waste, and
encourage material reuse and recycling [41]. Circularity
approaches such as design for disassembly and design for
adaptability enhances the integration of effective post-
use materials and end-of-life solutions for materials in
buildings by considering their recovery and reuse from
the design phase [42, 43]. For example, designing for
disassembly and adaptability has been reported to offer
an 85% reuse potential for building materials compared
to conventional design and construction solutions [44].

Overall, this study shows that implementation of circular
economy strategies, including reuse, recycling, and
cascading strategies, offers opportunities to reduce the
life cycle environmental impacts of the studied CLT
building, offsetting its end-of-life impacts.

ACKNOWLEDGEMENT

The authors gratefully acknowledge the financial support
of the Kamprad Family Foundation of Sweden [Grant
No. AP14870295] for this research project. Funding is
also gratefully acknowledged from the Knowledge
Foundation through the project “Competitive timber
structures — Resource efficiency and climate benefits
along the wood value chain through engineering design”
[20190026].

5— REFERENCES

1. European Commission, Communication from the
Commission to the European Parliament, the
Council, the European Economic and Social
Committee and the Committee of the Regions on
Resource Efficiency Opportunities in the Building
Sector /* COM/2014/0445 final */, 2014.

2. Eurostat, Recovery rate of construction and
demolition waste. Accessed at
https.://ec.europa.eu/eurostat/databrowser/view/cei
wm040/default/table?lang=en on January 21, 2022.
2022.

3. Avfall Sverige, 2021 Swedish Waste Management.
Accessed at www.avfallsverige.se/ on Oct. 5, 2022.

https://doi.org/10.52202/080513-0279

4. European Commission, EU Construction and
Demolition Waste Protocol and Guidelines. Accessed
at http://ec.europa.eu/ on September 10, 2020. 2018.

5. Oberle, B., et al., IRP (2019) Global Resources
Outlook 2019: Natural Resources for the Future We
Want. A Report of the International Resource Panel,
2019.

6. Ellen MacArthur Foundation, How the circular
economy tackles climate change. 2021. p. 1-71.

7. Global Alliance for Building and Construction;
International Energy Agency, 2019 Global Status
Report for Buildings and Construction: Towards a
Zero-Emissions, Efficient and Resilient Buildings and
Construction Sector. Paris: UNEP. 2019.

8. European Commission, Closing the loop: An action
plan for the circular economy. Brussels: European
Commission. COM(2015) 614 final, Brussels. 2015.

9. Ministry of the Environment, Circular economy —
Strategy for the transition in Sweden. Government
Offices of Sweden. Government Olffices of Sweden. .
2020.

10. European Commission, 4 new Circular Economy
Action Plan For a cleaner and more competitive
Europe. Brussels, 11.3.2020, COM(2020) 98 final.
2020.

11.Malmgqvist, T., et al., Minskad klimatpaverkan frdan
flerbostadshus—LCA av fem byggsystem. 2018.

12. Petrovic, B., et al., Life cycle assessment of a wooden
single-family house in Sweden. Applied Energy,
2019. 251: p. 113253.

13. Kuittinen, M. and T. Hikkinen, Reduced carbon
footprints of buildings: new Finnish standards and
assessments. Buildings and Cities, 2020. 1(1).

14. European Commission, Directive (EU) 2024/1275 of
the European Parliament and of the Council of 24
April 2024 on the energy performance of buildings
(recast) (Text with EEA relevance). Official Journal
of the European Union, 2024.

15. European Parliament Amendments adopted by the
European Parliament on 14 March 2023 on the
proposal for a directive of the European Parliament
and of the Council on the energy performance of
buildings (recast) (COM(2021)0802 — C9-0469/2021
—2021/0426(COD))(1). 2023.

16. Boverket, Regulation on climate declarations for
buildings- proposal for a roadmap and limit values.
Report number: 2020:28, ISBN print: 978-91-7563-
730-3, ISBN pdf: 978-91-7563-731-0. 2020.

17. Agora Energy Transition Reducing embodied carbon
in new buildings: RE2020 in France. 2022.

18.Food and Agricultural Organization of the United
Nations, Forestry for a Low-Carbon Future:
Integrating Forests and Wood Products in Climate
Change Strategies, FAO Forestry Paper 177.



Accessed at http.//www.fao.org/3/i5857e/i5857e.pdf
on 31st January 2021. 2016.
19. Younis, A. and A. Dodoo, Cross-laminated timber for

building  construction: A life-cycle-assessment
overview. Journal of Building Engineering, 2022. 52:
p. 104482.

20. Cadorel, X. and R. Crawford, Life cycle analysis of
cross laminated timber in buildings: a review. 2019.

21. Andersen, J.H., N.L. Rasmussen, and M.W. Ryberg,
Comparative life cycle assessment of cross laminated
timber building and concrete building with special
focus on biogenic carbon. Energy and Buildings,
2022.254: p. 111604.

22.Laurent, A., S.I. Olsen, and M.Z. Hauschild,
Limitations of carbon footprint as indicator of
environmental sustainability. Environmental science
& technology, 2012. 46(7): p. 4100-4108.

23.Horvath, A., Construction materials the
environment. Annu. Rev. Environ. Resour., 2004. 29:
p. 181-204.

24. Al-Najjar, A. and T. Malmqvist, Embodied carbon
saving of reusing concrete elements in new buildings:
A Swedish pilot study. Resources, Conservation and
Recycling, 2025. 212: p. 107930.

25. Thormark, C., Environmental analysis of a building

and

with reused building materials. International Journal
of Low Energy & Sustainable Building, 2000. 1.

26. Almusaed, A., et al., Assessing the impact of recycled
building materials on environmental sustainability
and energy efficiency: a comprehensive framework
for reducing greenhouse gas emissions. Buildings,
2024. 14(6): p. 1566.

27.Schneider-Marin, P. and W. Lang, Environmental
costs of buildings: monetary valuation of ecological
indicators for the building industry. The International
Journal of Life Cycle Assessment, 2020. 25: p. 1637-
1659.

28. European Standard, EN 15978 - Sustainability of
construction works—assessment of environmental

performance of buildings—calculation method.
European Committee for Standardization. 2011.
29.EN,  Sustainability of construction  works—

Environmental product declarations - Core rules for

the product category of construction products. 2012.
30. Al-Najjar, A. and A. Dodoo, Modular multi-storey
construction with cross-laminated timber: Life cycle
environmental implications. Wood Material Science
& Engineering, 2022: p. 1-15.
IVL  Svenska  Miljoinstitutet,  Byggsektorns
miljoberdkningsverktyg. (In English: The
construction sector's environmental calculation tool).
Accessed

31.

at https.://www.ivl.se/sidor/vara-

omraden/miljodata/byggsektorns-
miljoberakningsverktyg.html on 2021-09-30. 2021.

2295

32. Campbell-Johnston, K., et al., The Circular Economy
and Cascading: Towards a Framework. Resources,
Conservation & Recycling: X, 2020. 7: p. 100038.

33.Sirkin, T. and M. ten Houten, The cascade chain: a
theory and tool for achieving resource sustainability
with applications for product design. Resources,
Conservation and Recycling, 1994. 10(3): p. 213-276.

34.Dodoo, A., L. Gustavsson, and R. Sathre, Lumber, in
Handbook of Recycling. 2024, Elsevier. p. 463-479.

35. Passarelli, R.N., The environmental impact of reused
CLT panels: study of a single-storey commercial
building in Japan. World Conference on Timber
Engineering, Seoul, South Korea. 2018.

36. Erlandsson, M. and D. Peterson, Klimatpdverkan for
byggnader med olika energiprestanda (In English:
Climate impact for buildings with different energy
performance). Underlagsrapport till kontrollstation,
2015.

37.Stora Enso, Environmental Product Declaration In
accordance with ISO 14025 and EN 15804 for: CLT
(Cross Laminated Timber). EPD
number: S-P-09949. 2023.

38. Boverket, Climate database from Boverket. Avialable
at
https://klimatdatabasen.boverket.se/detaljer/5/60000
00029. 2024.

39.Kibert, C.J.,
sustainable

registration

Deconstruction: the start of a
strategy  for the built
environment. Industry and Environment, 2003. 26(2-
3): p. 84-8.
40.Dodoo, A. and L. Muszynski, End-of-life
management of cross laminated timber multi-storey
buildings: A case for designing for post-use material
recovery —and environmental benefits. World
Conference on Timber Engineering (WCTE) 2021,
August 09 - 12, Santiago, Chile. 2021.
Vilcekova, S., et al., End-of-Life Stage Analysis of
Building  Materials
Construction. Engineering Proceedings, 2023. 57(1):

materials

41.

in Relation to Circular

p. 43.

42.Munaro, M.R. and S.F. Tavares, Design for
adaptability and disassembly: guidelines for building
deconstruction. Construction Innovation, 2025.

25(2): p. 665-687.

43.Dams, B., et al., A4 circular construction evaluation
framework to promote designing for disassembly and
adaptability. Journal of Cleaner Production, 2021.
316: p. 128122.

44.CIRCulT, Circular Construction In Regenerative
Cities. Insights from the CIRCulT project. Available
from  https://report.circuit-project.eu/assets/circuit-
final-report_full report.pdf. 2023.

https://doi.org/10.52202/080513-0279





